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59 - 01. TR e % & (V) g SRR -
Questions - 01. Put a (V') mark against the correct option -

1. {3 ¥ opirea 9% & T9E il T84 T Ha [dshed 1 994 H-

Identify the set of prime numbers in the following and select the correct option -

(}) 1310
13 and 10

3 11915
11 and 15

2. fmiagad®

(M) 9w 25
9 and 25

@ 1719
17 and 19

Which of the following is not true?

(3) 2 x32 HFHAFA18TI
The value of 2 x 32 is 18.

(M) 16 = 4 x 22
16 = 4 x 22

(3) MR T &l W I H =1d T =i # |

When the bases are the same, the powers in multiplication decrease mutually.

(é) 312 32 — 314

312 X 32 — 314—

10x2=20
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foret B | -6 Fe e e B 2
Which of the following statement is not true ?

[Nl o\

(1) R i e A TRt 6 2T 2, I8 R TR Fead 2 |

A quantity whose value does not change is called a constant quantity.
(zm) e i v A aRafd 2 2, 98 =R T FEed 2|

A quantity whose value changes is called a variable quantity.
(3) GHIET H T3 TR F g &1 |

There is always an equal sign in an equation.

@ I=7HxFAN5ETI

In g =7, value of x will be 5.

o T WS o G | ol § @ -9 Fge T2 ] 2
Which of the following statement is correct regarding square and square root?
(31) 8100 F TS 81 &1
The square root of 8100 is 81.
(M) 9FFI3RRG3F TS 9 &l 2 |
The square of 9 is 3 but the square root of 3 is not 9.
(3) 56 H I 25 T 36 2
The square of 5 and 6 are 25 and 36 respectively.
€) 25 F W58 a5 H TS 25 B
The square of 25 is 5 and the square root of 5 is 25.

e 6 @ feuc AisTg 2T &1 =994 &< |
Select the binomial algebraic expression from the following.
()  5Sxy + 3xy (3M) 15x%y? + Sx?y?

X  8xy+ 17x2y? 3) W A RE @
None of these
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6. O H TS % G | o § @ FiA-A1 Fud 92 1 2

Which of the following statement is not correct regarding cube and cube root?

(37)
(3T
®)

®)

216 H TS 8 2 |

The cube root of 216 is 8.

6 FNEA2168 dA 216 FTHS 6 8 |

The cube of 6 is 216 and the cube root of 216 is 6.
4 194 64 T 64 T TGS 4 B

Cube of 4 is 64 and cube root of 64 is 4.

27 FETHS 3T |

The cube root of 27 is 3.

7. g & e | o @ Fie-an faehen & 2 2

Which of the following option is not correct regarding the quadrilateral?

(37)

(3T

®)

®)

QST % TR S RO ) AT R ATRS 180 SRTEAIR |

The sum of the measures of the four interior angles of a quadrilateral
is 180 degrees.

T T (ST =R T G0 &1, TWER IS FESIdT ¢ |

A quadrilateral whose all four sides are equal is called a square
quadrilateral.

QST % TR S RO I AT R AOTRS 360 SR EE |

The sum of the measures of the four interior angles of a quadrilateral
is 360 degrees.

T AT ST SHA-T Tl T TH &, AR T FEaI & |

A quadrilateral in which opposite sides are equal is called a

rectangular quadrilateral.

8. /A | FiA-a1 [heq Tel A8 8 ?

Which of the following option is not correct?

(%)

®)

80 1 25% = 25 (3M) 80 H20% = 16
25% of 80 = 25 20% of 80 = 16
800 T 30% = 240 ) 400 F1100% = 400
30% of 800 = 240 100% of 400 = 400
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9. fFRUIFR-T T TEE?
Which of the following formula is not correct ?
(31) TN T A = SR x S5
Volume of cuboid = length x height
(3 d9d F1 9R™ = 2mr / Circumference of circle = 2mr
3) IR EARS = Tr?
Area of circle = mr?
3) & 1 THYS = 27k
Curved surface of a cylinder = 2nrh
10. FEddsFagEadz?

Which of the following formula is correct ?

() T H EEIHRS = Y x T

Area of square = side x side
(3M)  Frgst 1 8Thes = — (TR x $I%)
Area of triangle = zi (Base x Height)

(B) Ed Hl GETRS = SHE x ISk
Area of rectangle = length x breadth

3) I9GFE A / All above three

9 - 02. <h Tl 3 i i -
Questions - 02. Fill in the blanks -

1.

A B A TIIH = (oo )
Additive inverse of a = (............ )
—(a-b) =,

=TS Ce - A AT &l |

A quadrilateral has .................... sides

5x2=10
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4, E IS TR SR R E o T HESTT & |

A polygon in which the diagonal is exterior is called an .................... polygon.
5, FURHIFHAA ...ooovvvrnnnee. e IR S el |

Number between two rational is a rational number.
e - 03. ferafosfaa ool % frem W i - 5x2=10
Questions - 03. Consider matching the following pairs -
1.  x%y3#Hy3 RIOIH % 23

Coefficient of y3 in x2y3
2. x + 2 = 25dd, x &I A 9 1

x + 2 = 25 Then, the value of, x
3. @ & Al diRl T4

Inverse operation of squares
4. a° g x?
5. %l'@i?l * 3Ny g aﬁ%/ square root

Vertex of the Quadrilateral 4. 0

3. 27

9 - 04. T / SEA FIA HN TG HlloTC 5x1=5

Questions - 04. Select the true and false satements -

1.
2.

i 91, T &l £/ All squares are rectangles.

A Tl R T ST &l £ |

All sides of a rectangle are equal.
10x2y ® x2 FIIPTE 10y &1 /The coefficient of x2 in 10x2y

B ST AT F TR I fIsra Fad £

is 10y

The sum of principal and interest is called compound money.

o 1 51 &S = 602 BT

The surface area of a cube = 6a?.
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=T - 05. el ST 9% — 10 x 2 =20
Questions - 05. Very short answer type questions -

1. 253 Elﬁﬁ@' Fd HINT | / Find the square root of 16.

2. &S 3xy IR 4y 1 IO HITT/ Multiply expression 3xy and 4y.

3. A 1 ®=/ Find the value - 69 x 3

4. RISt 31: F B GRS o &1 & ?

What is the sum of the interior angles of a triangle?
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5. 685487 F1 dIii® gd ®X | /Find the bijaank of 685487.

6.  THghs AN F TUMT & F G [BRAYl / Write the formula for calculating

compound interest.

7. FA T T 1 & &I /Solve by Urdhvatiryagbhyam formula -
210 x 123

8.  FEYS © 39 I @HEN & 2/ What do you understand by polygon?
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9. 200 I ke wfezd 50 & 2/ What percent of 200 is 50 ?

10. STk [T 4096 H 64 I WRT SR MRTHS W& JNEHS STd it |

Find the quotient and remainder by dividing 4096 by 64 using the

dhvajaank number method.

5= - 7. HEET 92 —

Questions - 07. Short answer questions -

1. oo g %1 re auEd §Y, St 99 % g1 5184 F1 S F1d Hie |

Explaining the meaning of Vilokanam formula, find the square root of 5184

by the above formula.

5x3=15

a9/ Year - 2024-25




T/ Mathematics

VSSB/25/8-3

ECE ol GRIR| T / Veda Bhushan Third Year
T 81 / S - 1T / Class 8 / Prathama - III

Model Paper - A

2.

IE G HT 318 GHA Y, 7 TR T -

Explaining the meaning of the Anurupyena formula, find the following

product -
515 x 520

fore ik & 19 1 TWEI g, 8 T U I &S -

Explaining the meaning of the following verse, solve the given question.

FHEETG 9: UiGE: Sfd 99 TG |

23+4
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4. T HIUT (x) H1 A Fd F / Find the value of the unknown angle (x).

5. e SANTA QU 1 9151 & o qUIteh J0d i |

The sum of three consecutive integers is 51, then find the integer.

10
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91 - 08. el ST A — 4x5=20
Questions - 08. Long answer type questions -

1.

2.

SN\

92 Tfcsa™ IooAd I T TR H R0 F STwiid 25% SIHA, 15% =1| Je 39
i o U ST | e gl ki w80 &, 7|

In a Pathshala of Veda Pratishthan Ujjain, 25% Jamun plants, 15% Neem
plants and the rest Peepal plants have been planted under plantation
programme. If the number of plants is 80,

1) A & il i G fRa & ?/ What is the number of Jamun plants?

2) < % Gl i T fRaelt 8 2/ What is the number of Neem plants?

3) A Ud <\ & il B THd FE ?

What is the ratio of Jamun and Neem plants?

T8 U d¢ e foaRau forw | &1 9 21

Write a Veda mantra in which there is cognition of number.
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3.

o AT ST F ITHRS 1 =

Find the sum of the following algebraic expressions.
1) (x+2y)3GBx+y) / (x+2y)and Bx+y)
2) 8a’t 3 12a?t / 8a®t and 124t

feret 3¢ T % I 91 O TS i STTERON T qHEmed|
Explain the concept of square and square root with the help of following
Veda Mantra.

WA A A I @I G I QI A @I AW AHS WEATHS
THIGE 9 H SIGET o # iR 9 A TEeR 9 H THEeR 9 A H6ex 9 A Gacx 9 H Faen 9 7
TG A H TH X F( T S TG ¥ okl W T ¥ el | T ¢ i 7 9= 3 ¢
ik | Y ¥ Tifciel § G [ < 2faeT § qafd < 2ifel § J6id < A | 766 X A7 S
T 3 X T S TR K T AR X T H IR Hedea, ||
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